25%




WCS

JA



BE




ha

95 99 99
52 43 43
186.5 178 178
0 0 0
0 0 0
WC S 0 0 0
0 0 0
0 0 0
56.5 54 54
7.6 7.6 7.6
0 0 0
47 57 57
0 0 0
0 0 0
3.6 6.6 6.9
3.4 6.4 6.4
0.2 0.2 0.5
0 0 0
0 0 0
0 0 0
0 0
0 0 0




(R ) 1.8ha =3} 3.3ha
(R4 ) 56.5ha 23] 54. Oha
(Rd ) 56.5ha 54_0ha

(R4 ) 52.0kg/ 10a 110kg/10a

(R¢ ) 186.5ha =] 178. Oha
(R4 ) 186.5ha 23] 178. Oha
(R4 ) 567.2kg/ 10a 23 596kg/ 10a
(R¢ ) 47.0ha =] 57.0ha
(R4 ) Oa 23] 57. Oha
(R4 ) 3.6kg/ 10a 23 40kg/ 10a
(R4 )1l.6ha 23] 3.1ha
(R4 )0. 2ha 23] 0. 5ha




/10a

58,500

17,560

2,500

IPM

2,500

21,850
11,500

@)

o

o




